Part- | - Aptitude
1) A farmer used 1034 acres of land for growing rice, wheat and corn in the ratio of 5:2:4 respectively. How many
acres were used for growing corn?
A) 188 acres B) 258 acres C) 376 acres D) 470 acres

2) How many times should the keys of a keyboard be pressed in order to type the first 300 counting numbers?
(i,e.totype 1, 2, 3 ... 300)

A) 362 B) 1448 C) 1504 D) 792

3) The more she learnt the American Civil War, the more fascinated she became.

A) About B) From C) Off D) With
Part- Il — Corporate Social Responsibility

4) Which is the example of "working with individuals?”

A) Working with members of self help group

B) Working with members of community people
C) Working with Person with emotional crisis
D) Working with person with resources

5) Which one is the part of national health policy?

A) Janani suraksha yojna

B) Ladlilaksmi yojna

C) Malaria eradication program

D) Mental illness eradication program

6) Which of the following activity is a part of CSR?

A) Profit Maximization
B) Cost Reduction

C) Philanthropy

D) Strategy Formulation



